

INSTITUTE FOR DESIGN OF ELECTRICAL MEASURING INSTRUMENTS, MUMBAI**LIST OF ST STUDENTS ENROLLED IN 2ND QUARTER JULY, AUGUST & SEPTEMBER 2025****Name of the Course: Diploma in 3D Animation & Graphics****Fees : Rs. 20,000/- per student**

Sr. No.	Name of the Student	Father's Name	Aadhaar Card No.
1	Tanaji Devram Bhangare	Devram Bhangare	*****094
2	Basavaraj Hanamantry Naykodi	Hanamantry Naykodi	*****970
3	Devendra Gorakhnath Dhongade	Gorakhnath Dhongade	*****298
4	Shrawan Santosh Dagale	Santosh Dagale	*****019
TOTAL Rs. 20,000 x 4 = Rs. 80,000/-			

Name of the Course: Diploma in Robotics & Mechatronics**Fees : Rs. 20,000/- per student**

Sr. No.	Name of the Student	Father's Name	Aadhaar Card No.
1	Krutik Haresh Bhawar	Haresh Bhawar	*****175
2	Tanmay Dilip Hadal	Dilip Hadal	*****753
TOTAL Rs. 20,000 x 2 = Rs. 40,000/-			

INSTITUTE FOR DESIGN OF ELECTRICAL MEASURING INSTRUMENTS, MUMBAI**LIST OF ST STUDENTS ENROLLED IN 2ND QUARTER JULY, AUGUST & SEPTEMBER 2025****Name of the Course: Assistant Operator – CNC Turning (Tool Room)****Fees : Rs. 29,400/- per student**

Sr. No.	Name of the Student	Father's Name	Aadhaar Card No.
1	Umesh Dnyaneshwar Madke	Dnyaneshwar Madke	*****794
2	Sahil Ajit Borahde	Ajit Borhade	*****573
3	Ganesh Chintaman Khokale	Chintaman Khokale	*****777
4	Tukaram Ramesh Waghe	Ramesh Waghe	*****472
5	Omkar Suresh More	Suresh Chandara More	*****390
6	Pratik Tulshiram Aghan	Tulshiram Bhavku Aghan	*****082
7	Krushna Waghu Lohare	Waghu Santu Lohare	*****316
TOTAL Rs. 29,400 x 7 = Rs. 205,800/-			

Name of the Course: Asst. Operator – CNC Milling (Tool Room)**Fees : Rs. 29,400/- per student**

Sr. No.	Name of the Student	Father's Name	Aadhaar Card No.
1	Vijay Kisan Dhadwad	Kisan Dhadwad	*****482
2	Kailas Naresh Pawar	Naresh Pawar	*****878
3	Sahil Rajesh Waje	Rajesh Waje	*****795
4	Akash Malikarjun Gaikwad	Malikarjun Gaikwad	*****976
TOTAL Rs. 29,400 x 4 = Rs. 1,17,600/-			

INSTITUTE FOR DESIGN OF ELECTRICAL MEASURING INSTRUMENTS, MUMBAI

LIST OF ST STUDENTS ENROLLED IN 2ND QUARTER JULY, AUGUST & SEPTEMBER 2025

Name of the Course: Graphics & Web Designer Assistant

Fees : Rs. 29,400/- per student

Sr. No.	Name of the Student	Father's Name	Aadhaar Card No.
1	Tejas Shivram Pawar	Shivram Pawar	*****051
TOTAL Rs. 29,400 x 1 = Rs. 29,400/-			

Name of the Course: Jr. Designer – CAD/CAM

Fees : Rs. 29,400/- per student

Sr. No.	Name of the Student	Father's Name	Aadhaar Card No.
1	Nikhil Shashikant Kamble	Shashikant Kamble	*****657
TOTAL Rs. 24,990 x 1 = Rs. 29,400/-			

Name of the Course: Jr. Designer – Tool

Fees : Rs. 29,400/- per student

Sr. No.	Name of the Student	Father's Name	Aadhaar Card No.
1	Tanay Kiran Palshetkar	Kiran Palshetkar	*****814
TOTAL Rs. 29,400 x 1 = Rs. 29,400/-			

Name of the Course: Jr. Embedded Designer

Fees : Rs. 29,400/- per student

Sr. No.	Name of the Student	Father's Name	Aadhaar Card No.
1	Kunal Raghunath Dagale	Raghunath Dagale	*****030
TOTAL Rs. 29,400 x 1 = Rs. 29,400/-			

INSTITUTE FOR DESIGN OF ELECTRICAL MEASURING INSTRUMENTS, MUMBAI**LIST OF ST STUDENTS ENROLLED IN 2ND QUARTER JULY, AUGUST & SEPTEMBER 2025****Name of the Course: Sr. Technician -Mechatronics****Fees : Rs. 29,400/- per student**

Sr. No.	Name of the Student	Father's Name	Aadhaar Card No.
1	Akash Krishna Bhimra	Krishna Bhimra	*****923
2	Yogesh Ramakant Tandel	Ramakant Tandel	*****804
TOTAL Rs. 29,400 x 2 = Rs. 58,800/-			

Name of the Course: Technician - Hand Held Products**Fees : Rs. 24,990/- per student**

Sr. No.	Name of the Student	Father's Name	Aadhaar Card No.
1	Kajal Chauhan Singh	Chauhan Singh	*****421
2	Raj Kundan Bagul	Kundan Bagul	*****258
TOTAL Rs. 24,990 x 2 = Rs. 49,980/-			

Name of the Course: Technician - Room Air Conditioner & Home Appliances**Fees : Rs. 29,400/- per student**

Sr. No.	Name of the Student	Father's Name	Aadhaar Card No.
1	Rinjad Harshada Barku	Barku Deu Rinjad	*****130
2	Mahale Harshal Shashikant	Shashikant Sampat Mahale	*****569
3	Pratik Sharad Dangat	Sharad Dangat	*****342
4	Prakash Dinkar Desai	Dinkar Desai	*****817
TOTAL Rs. 29,400 x 4 = Rs. 117,600/-			